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INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet}

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that it
contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilaters immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank. inside the Examination Hall except the Admit Card
without its emvelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated, A second Answer Sheer
shall not be provided. Only the Answer Sheet will be evaluated,

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space prvided above.

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at
the top and by durkening the circles af the bottom. Also, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places.

6. No overwriting is alfowed in the entries of Roll No., Question Booklet no. and Set no. {if any)
on OMR sheet and Roll No. and OMR sheet no. on the Queston Booklet.

7. Any change in the aforesaid entries is to be verificd by the invigitator, otherwise if will be faken
as unfairmeans.

8. Eack guestion in this Bookler is folfowed by four alternative answers. For eack question, you
are 1o record the correct aption on the Answer Sheet by darkening the appropriate circle in the
correspanding row of the Answer Sheet, by pen as mentioned in the guidelines given on the
first page of the Answer Sheel.

9. For each question, darken only ono cirele on the An-aer Sheet, I you darken more than one circle
ot darken a circle partially. the answer will he ticered as meenl,

10, Note that the answer once fifled fu jnx Connf foe ¢ heizedd I van oo not wish o atiempt o
question, leave all the circdes in the correspondiog e hiourk (spels guesrion wifl be aworded
zerg marks).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12, Deposit anly OMR Answer Shect al the end of the Test.

13, You are not permitted 1o leave the Esamisation 1all until the end of the Test.

14. If a candidate attempts io use any form of uniair means, hefshe shall be liable to such punishment as
the University may determine and imposc on himther.
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14U /94 /4(i)
No. of Questions : 100
Wl # G 100

1
Time : 2-5 Hours Full Marks : 300

w9y 2% woe quIiE : 300

Note : (1] This question booklet contains 100 (hundred) questions in all
(30 in Section-A and 70 in section-B}. Attempt as many
questions as you can. Each question carries 3 (Three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.
g9 gyA-giegm & A 100 () 93 E (@ve- 7 304
qUs-§ § 70) | STAFNUF Tl N & FA H TIST HT ) F&%F
s 3 (=) o F W B g% Tora gov & ROU % e

HreT ARFI | TAF ST AT W Wi Y7 el

(2} If more than one alternative answers seem 10 be approximate to
the correct answer, choose the closest one.

afe oI Seicass 39T g8 39 & e wdig &f, @ feean
w8 T

3 P.T.O.
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Section-A
[US-—H

01. Indian education put emphasis upon @

02.

(1} The tradition of Indian society

{2) To give Honour to elders & teachers
(3) Cultivation of values

{4) All of the above

qdE faen new 3 R -

(1) AREE J97 95 9o ay
(2) AYE U9 37 & §E gv
(3) wrEhT dwpfa @ gase ox
(4) 39TeRT | g7

"Every school ! subject has a disciplinary value," it means, that :
(1] 1t brings discipline among students

(2} It teaches certain habits and qualitics to train the minds of
students

(3} Every subject is the outcome of the work of disciplined thinkers

(4) It requires disciplined methods of tecaching
mmwm%m%ﬁmﬁw@m%m
atirg & B

(1) I o=t & sqenes o 2
(zjaaaﬁf%qﬁﬁﬁﬁﬁﬁam?ﬁqﬁﬂﬁﬁ%m%
[ajmmﬁ&mﬁaﬁ%mwm%

(4) ﬁagaﬂﬁafﬁlwﬁfﬁ‘raﬁwmmaﬁ?ﬁ%

4
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A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents
(2} Create happiness in the classroom
(3) Achieve curriculum goais

(4) Assign home work and classroom work

ﬁmﬁmﬁwﬁﬁmﬁmmaﬁmwﬁ
aIiRd it a8 IEa e axar 2

(1) PESl & g s F
(2) 1 ¥ HAFts SO &y #
(3) JIEHHH & T @ oif |
(4) TEb™ TF FIEH 7w F

For becoming a good teacher, the most important quality of a person
is :

{1) Genuine interest in teaching

(2) Knowledge of his subject

(3) Ability to control students

(4} Ability of good expression

@mwaﬁ%%ﬁ,%mﬁﬁaﬁﬂaﬁﬁmﬁm
B

(1) fweer § ofaa st &

(2) Fem = osw &

(3) ==t B FEET @3 & gegar B

(4) or=dht AfFaataT it araar &

5 P.T.0,
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05. If I will become a teacher my most preferred activity will be to
(1) Give important questions to students before examination
(2) Dnctate notes in the class
(3] Clear their difficulties regarding subject-matter

(4) Make student disciplined

Ak ¥ 0F HUTE g9 e A A q9) g s e
(1) 98 § 9Bt o=t B qemyet g T8y 7

(2) F&n ¥ dAgw A

(3) Fowa awy 8§ @=iud ST Heamet B g3 B

(4) ST & HMET FAE

06. [f a student gives wrong answer to your question you will
(1) Scold him for not having learnt his lesson properly
(2) Explain why his answer is wrong
(3) Ignore the wrong answer

(#)  Ask another student Lo answer and ignore him

% OF B 3D T B AT T 27 B a9 aqg

(1] 3] 997 98 F 3% q 7 By $ By =i

(2) ' W w5 e aar w1t ey

(3) 7T I X e A8 39

(4) Wgﬂ%mﬁaﬁréﬁﬁﬁﬁaﬁ?aﬂﬁaﬁ‘wqﬁﬁ
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07. You are teaching a topic and a student asks a question unrelated to

the topic., What will you do ?

(1)
(2]
(3]
(4)

You will permit him to ask unrelated question
You will not permit him for this
You will consider him as undisciplined and punish him

You will answer the question after the class

HAY FHET H TF 9o T © § o o o qre § oraafua uee
FHAT & | T Fr HLr ?

{1)
(2)
(3)
(4)

HY IV FEaET G B A Al &
g IW oTEAfET g9 g9 &t rgHfy g
Y S/ FhD FgAf TE A

A9 FHEIRT FHH IEe &

What type of teacher would you like to be ?

(1)
(2)
(3)
(4)

A teacher who teaches the whole curriculum
A teacher who helps his students in learning
Teacher who is a friend, philosopher and guide of his students

A teacher who maintains good discipline.

aq fre U H FHENE: q9 e ¢
(1) HeUE o & QX IgEA B TeEr

(2)

ST il S # endt @ e S B

(3) oI A Bl #r frE, anites ik mEs R
(4) STATIE S FEWT FIMEA TEAT 3

d P.T.O.
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09,

10.

11.

At authoritarian level teaching is :

(1) Teacher centered (2) Child- centered

(3) Headmaster centered (4) Experience based

Friger w7 a1 famyor

(1) Hewas Sfeg @y 2 (2) B #fga &ar 2

(B) vaFrEE BiEg @ 2 (4 HIAG AR §

In order to modify the undesirable behaviour of a student the most

effective method is -

(1) To find out the reasons for the undesirable behaviour and pro-
vide remedies

(2) To bring it to the notice of parents

(3] To punish the student

(4} Te ignore it

mﬁ%mﬁaw%ﬁaﬂ?%mﬁﬁaﬁw%ﬁr%

(1) WW%WWWWWWWW
fTHAT

(2) IR B gl s

(3) = & Fug T

(4) TEH I HAaT

Secretly is to openly as silently is to :

(1) scarcely (2} impolitely

(3} noaisily (4) quietly

T Mo oo & R & 39 Fregar -

{1) Fotwem & gy 2 (2) ofrear 3 fardy 3

(3) gwre & ford 2 @) e F RE 2



12.

13.

14.

15'

16.

17.

14U /94/4{1)

Which number would replace question mark in the series
7,12, 19, ? 39

O¥Taras 3 TF 97 3% saRy ¢

(1) 29 (2) 28 (3) 26 [4) 24

Mind : Body ::

{1) Water: Air (2} CPU : Hard Disk

{3) Ship: Qil (4} Software ; Computer

7 9T

{1) 9t @ & (2) @Ry - sEftwEs

(3) & ;AW (4) div=agy : HPEY

Life is related to Death in the same way as Hope is related to :

(1) Sad {2} Despair (3} Pain (4] Cry
g & T gg | § I THR o Hetread @

(1) g& & 2) Fraema (3) =€ & (4) foeend 4

FAG, GAF, HAIL, TAH,

(1] JAK (2] HAL (3) HAK 4] JAI

oh ¢ o, H T aw, 09 T o, W WA, ... [

(1) ¥TH 2) THUUH (3) CHUR 4) ¥ u o

Which word does NOT belong with the others ?

(1} guitar {2) flute (3] violin (4) sitar
fra & § B o q gefa T8 &7
(1) FrEr 2) «igh (3) T (4) TaETe

Which word does NOT belong with the others ?
{1} leopard (2) Jaguar {3} eclephant (4) lion

g P.T.O.
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18,

19,

20.

21.

e & 9 &9 a1 a= I & aafag ft & ?

(1) <far (2) dgaw (3) =Ted (4) S
Child : Family :;

(1) Flower : Bunch (2} Bird : Set

(3) Calf: Herd (4) Deer : Gang

=7 : Yy

(1) % ¢ = (2 fafear - gue

(3} =BT : gos 4) WG :

[f 5 is the brother of N, the sister of N is M, the brother of P jg J and
the daughter of S is P then who g the uncle of J ?

1) J 2] S (3) N (4) M
R q T wm oW B, T A gsq TR IFTaE T gy g Gy
T T W HT AT B 7 ¥
1) = 2) = 3}y A {4) H

3, 10, 101, ?
(1) 100101 (2) 1020] (3) 10202 (4) 11012

The fullform of NTS E is -

(1) National Technician Search Education
(2) National Teacher Search Examination
(3) National Talent Search Examination
{4) National Talent Selection Examination

T & oaw £ # g A

(1) Jea Feifars o TSR
(2) %iFﬁWEﬁHT'Hﬂ;QﬂEﬁﬁQEFT
(3) 19T 2wz

M) Ao 3| el sy eg

10
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22, EDUSAT satellite was launched on

23.

24,

(1) 20% September, 2003 (2) 20™ September, 2004
{3} 20™ September, 2005 (4} 20% September, 2006

s 3 g Uy u & Fr e -

(1) 20 fer=z, 2003 H B T ot
{2) 20 fEarER, 2004 & far =7 or
(3} 20 REr=IR, 2005 F B @ e
(4) 20 f{a=R, 2006 B BT oo

NIOS is known as :

(1} National Institute of Open Schooling

{(2) National Institute of Open School

(3) National Institute of Overseas Schooling
(4) National Institute of Open Scholars

T HI§ 3 TH AT A B
(1) ﬂws@wmaﬂﬂﬂﬁgﬁh
(2) AT FATTE G SN e

{3) %mﬁwmaﬂa@ﬁw
(4) A TRITgE oG JUE @R

NEUPA was established in :

(1) 1976 (2) 1986 (3) 1996 (4) 2006
W B G &G ©

(1) 1976 # (2) 1986H (3) 19968 (4) 2006 %

11 P.T.O.
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25. Who is the present director of NCERT ?

26.

27,

(1) Pref. J.8. Rajput

{2] Prof. Parvin Kiran Sinclair
(3) Prof. A. K. Sharma

(4] Prof. Krishna Kumar

A A TS A, B Priees A 2 2

(1) M. F.99. oy (2) AN = e Ry
(3) WY. u. . i (4} At FET FHR

The theme of the 11% global menitering report 2013-14 of UNESCO
wds !

(1} Teaching and Learning : Achieving quality for all

{2) World Peace ; Education and value

(3] Environmental Pollution

(4) Women Empowerment and Education
@Hﬁ#ﬂwﬁ@aﬁmﬁaﬁnﬁcﬁézm&mmr{aﬁwm
(1) &R e i : ofafar gaid B o

(2) w2 d : R ot &g

(3) FIAHATH dge=

(4) T FUERH QoS OopdEm

Who wrote the famous book - 'We the people’ ?

(i} T.N. Kaul {2) J.R.D. Tata

(3) Khushwant Singh (4) Nani Palkhivala
”é’ratﬁgﬁr“wnﬁl@{gﬁmﬁ’mﬁﬁ*ﬂzﬁeﬁ?

(1) &lo THo FHw I (2) Fo o Ho wrzr J

(@) guaw fie A (9) =R g 3

12
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28. The Cabinet of which state in March 2012 decided tc give a grant of

29.

Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1) Uttar Pradesh (2) West Bengal
{3) Andhra Pradesh (4) Delhi

Rre g & A afteg ] A 2012 7 B & 9" g sEnedt
B IS foare oF QR B R 30,000 TR H STHEE GG HH
foofa forar ?

(1) I©R U9 (2) OfFeW SMe (3) HFT 92w (4) Re

National Institute of Mental Health and Neuro Sciences is situated at :
(1] Lucknow (2) Bhopal (3] Bangalore (4) Delhi

AT FREICYE Il #Td ¥ uos =g wigaer fReaa §
(1] fT@9sd (2 Aga d (3) s A (4) feeclt &/

. PW.D. Act, 1995 is related to :

(1] People's works department

2] People's welfare department

(3] People with Disabilities

(4) People with disease

flo sege dlo TFE, 1995 FN T B
(1) Wgew gl RBudd= |

(2) g a9BaY Buda |

(3y digw fag Rwofegd |/

(4) g R 9 9

13 P.T.O.
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Section - B
WUs—g

31. The results of 10 students in a test are listed below. Determine the
value of x if the mean score is 76 ;

B @ x&® A T e

(1)

Score Number of students
45 1
65 2
75 3
x 4
80 (2) 85 (3} 90 (4) 95

32, What is one of the distinctions between a population parameter and
a sample statistic ?

(1) A population pParameter is only based on conceptual

(2)

(3)

(4)

measurements, but a sample statistic ig based on a combination
of real and conceptual measurements.

A sample statistic changes each time ¥ou lry to measure it, but a
population parameter remains fixed.

A population parameter changes each time you try to measure it,
but a sample statistic remains fixed across samples.

The true value of g sample statistic can never be known but the
true value of a population parameter can be known.

14
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T 99U 9 od OF Sidest qiftmea @ i on opat g § 7

(1) &% @91 99 S G=iiss 7t o s @ & oy ww
syl iRy arafas o dafe At @ wgw ww @
TR T 8 )

(2) e afcest Aiftasia ods T gRafda a1 & 9w eng =@ T
B P B E I oF Gwa yrad FfdEs @

(3) TH THH AW Td% A% aRkafia & @ o9 onT 3/ Agy <
FAT HA ¥ Ty O TRyt Wi aRvest § adw R
B 2

(4) T ufdest Aiftasia @& arafs 59 &9 g 56 Bsar o
A 93] UF GHY NEd & aRdias O Ore @ @6 )

33. The value of a correlation is reported by a researcher to be r = —(3.5.
Which of the following statements is correct ?

(I) The x-variable explains 25% of the variability in the y-variable,
(2) The x-variable explains -25% of the variability in the y-variable.
(3} The x-variable explains 50% of the variability in the y-variable.
(#) The x-variable explains -50% of the variability in the y-variable.

Uk HANE T Ve =9 & °19 r=-0.5 ooy 7o oy 8 Q &1
qr gwH wdt & 7

(1) x-9X y-TT B 25% gRad=sfiiear samar &1
(2) %9 y-= T -25% IRad-eieen aawr 2 )
(3) x-TR y-8¢ @ 50% IRad-giear &amar &)
(4) xR y-EX W ~50% dRacreiierar aamr 3 )

15 P.T.Q.
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34,

35,

36.

One use of a regression line is -

{1) To determine if any x-values are outliers.

(2) To determine if any y-values are outliers.

(3) To determine if a change in x causes a change in y.
(4} To estimate the change in y for a unit change in x.

THIAEY 3G &7 T IgGhT T -

(1) =& e 0T % o g x-o7 qeee B

(2) T® P9I T B Far RSy e By

(3) ?mﬁam%mxwaﬁéuﬁaﬂqﬁﬁaﬁﬁﬁrw
|

(4) xﬁﬁqﬂﬁqﬁﬁﬁqﬁ%f@ﬁyﬂqﬁaﬁﬁfﬁraﬂﬁ?aﬂml

Which of the following is NOT correct about constructing histograms?
{1) The approximate number of classes is 1+3.3 log (n).

(2] All class intervals should be of equal width.

(3) The bars of the histogram are centred over the midpoint.

(4) The first and last classes should be open-ended to account for
extreme points.

Wﬁaaﬁﬂﬁmﬂﬁwﬁﬁﬁaﬁﬂﬂ%mﬂﬁrﬂﬁ%?
(1) =i Y ger qrar 1+3.3 log (n) 81 =ifed

(2] H‘ﬂ‘ﬁ“ﬁwwwfﬁtﬁi%ﬁﬁiﬂﬁal

(3) 9T ¥ & 298 77 famg X S @ afed

(4) qﬁﬁ?ﬂﬁﬂqaﬁwfé@aﬁ%mgﬁrmmﬁﬂr

If you buy one ticket in a game, the probability that vou will win a
prize is 0.11. If you buy one ticket each month for five months. What
is the probability that you will win at least one prize 7

(1) 0.55 2) 050 ° (3) 0.44 (4) 0.45

16
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37. If the distribution function of a random variable X is given by :

0
- if x<—8
F(x)= E[EH] if|]<8,6>0
ifx>@

1
Then P (x >g-1) is equal to :

NS T Lo 1
1) lifg<—;—ifo>= e Lqirexl
(1) b (2) Eﬂ:fﬂﬂz,nfaaz

o dt  Thoeanee | oo 1 1
0if8<—;—if @z — = Lirirext
(3) Ditg<oiojitezs (4) Zﬁlfﬁﬂ'z,hfﬂaz

q% T agfees 97 X & SIeERar F99 A @

? ifx<~-8
F(x)= E(‘;”] if[<6.6>0
ifx>@

1

@ Pix >g-1) I 99 BN afy

11 | ] 1 1
laftb<—; —agRO2— — g li<—: =

(1) 2" 78 5 2 o 9{1 1nra-azz
(3) 0wRO<I;—akoxl 4) Lame<liamexl
2" 20 2 20 2 2

17 P.T.O.
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38. If X, and X, are independent random variables with moment

39.

generating functions

30 1% .
M1(‘}=(E+Z¢1J and Mz(t}=[§+ze] 'ER, respectively. Then the

value of P(X, + X,=1)is:
3
A WY X, ol X, 3 oMot s wenr g M'(”=[E+EEJ

aﬁrmzw{%ule'} HER, F1 Al PX, + X =1) BT AT BPT

35 35

M % @ = @ o) ) 6[;]:]

Which of the following is not a necessary assumption underlying the
use of the Analysis of Variance technique ?

(1) The sample are independent and randomly selected,
(2) The populations are normally distributed.
[3) The variances of the populations are the same,

(4] The means of the populations are equal,

mﬁsﬁwﬁﬁr%mﬁmﬁﬁaﬁqﬁmﬂﬁ?m
Af¥eERegeT it B 7

(1) Hﬁi@fﬁﬁﬂqﬁqﬁﬁ‘ﬂ‘eﬁﬂ?ﬁﬁﬁgﬁﬂi’rﬁl

(2) ¥99 @MY &y § dfq &

{3) W % gEToT uH guTT #F |

(4] WA F Areq w7 8

18
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41.

42,

19U/94/4{i)

If there ure 6 treatments and 4 blocks in a randomized block design
then degrees of freedom for error is :

TF AREE Gue ANFHE d 6 IR o9 4 @us B @) Eaar
%l GUEHST BN
(1} 12 (2) 15 (3) 24 (4) 6

In a test of H, : p = 0.4 against H, : P # 0.4, a sample of size 100
produces Z = 1.28 for the value of the test statistic, Thus the p-value
(or observed level of significance) of the test is approximately equal
to:

Hyip=04% RE& H,: P#0.4 3 qlieror ¥ os 100 AmT &7 wiyesd
wler Wit # 7 & R 2= 1.28 URE BT ) W 9w
TIRACT N p-AT (AT ST Tl &1 &) TN ST §
(1) 0.90 (2) 0.40 (3) 0.05 (4) 0.20

In a statistical test of hypothesis, what happens to the rejection region
when a, the level of significance is reduced ?

(1) The answer depends on the value of §.

{2) The rejection region is reduced in size.
(3} The rejection rcgion is increased in size.
{4) The answer depends on the form of the altemative hypothesis.

TREH D T HilAHT qlwer § oediphy &9 @ wr g 2
T o, FRIHT B WWT FH HT BET 94 |

(1) 8 & "M X Ia¥ Frelx wwar B

(2} TR 89 oE & 9 & A &)

(3) ordlgphy 8 TR # s & wrem 2

(4) IO afeus uiteea & w9 9T PR A B

19 P.T.O.



14U/94 /44(i)

43. The number of traffic accidents per week in a small city has a Poisson
distribution with mean equal to 1.3. What is the probability of at
least two accidents in two weeks ?

1.3W%mﬂaaﬁmaaﬁﬁwmm%|%mﬂ
FH A B A gheel K mirEw w8 7

(1) 0.2510 (2) 0.3732 (3) 0.5184 (4) 0.7326

44. Which of the following are true statements about samnpling error ?

A. Sampling error can be eliminated only if a survey is both extremciy
well designed and extremely well conducted.

B. Sampling error concerns natural variation between samples, is
always present and can be described using probability,

C. Bampling error is generally smaller when the sample size is larger.
1] Aand B {2) AandC (3) BandC (4) A,BandC

Frfafe § @ @ sfrag= 3f 2 R g gewg 2 7

A ST 9 O wErE o G € @aw I @my ssfs o
mﬁmmmﬁaﬁmﬁa@mﬁmm
9PR A d=iie fsar o8

B. ufaers it 3 &t ol aftads @ gwafug 2 W
sﬁsnﬁ%%%ahﬁlﬂmﬁwaﬁrwﬁﬂmaﬁfﬂmw

HehdlT £ )
C. qﬁwg&m:zﬁaém%mﬁsﬁwwwal
(1) ACUS B (2) ATdC (3) Bugc {4) A, BUFC

45. We wish to draw a sample of size 6 without replacement from a
population of 50 households. Suppose the households are numbered
R » 00 and suppose that the relevant line of the random
number table is showing the digits 11362 35692 96237 90842

46843 62719 64049 17823 Then the number of the selected
households are :

1) 1113366223 35 (2) 11362308 42 46
(3) 11362356 92 96 (4} 1135234246 19

20
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S50U¢ % TF @HT W €9 6 S # OF uiyayt AT ghvemms
Rifer gy gra @ amsd ¥ ue S e et v 01,02, L
50 et ZU W R T R ue wre R ﬁﬁimgﬁﬂas
YT IO/ IuGET 4T 11362 35692 96237 90842 46843
62719 64049 17823 HEaraAl & awfen &) Y I gu adf %) wwnd
g

(1) 111336622335 (2) 11 36230842 46

(3] 113623569296 (4) 113523424619

Are all employees equally prone to having accidents ? To investigate
this hypothesis, we looked at the following classification of the
accidents by the type and the age of the employees,

Age Accident Type

Sprain Burn Cut
Undcr 25 9 17 )
»=25 61 13 12

A chi-square test gave a test-statistic of 20.78. You may assume that
the tabulated value of chi-square at « = .01 is approximately 9.0,
What is your conclusion if you test at ¢ = .05 ?

(1} There appears to be no association between accident type and
agec.

(2) Age seems to be independent of accident type.

(31 Accident type does not seem to be independent of age.

{4) There appears to be a 20.78% correlation between accident type
and age.

21 P.T.O.
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47,

waﬁﬁﬂﬁrﬁgﬂzﬂvﬁﬁmmmﬁmﬁ%?m
uﬁwaﬁmﬁ%%ﬁmg&m%mqﬁmﬁﬁaﬁm
# o Fraffga afeol /) 3@ ¥

o 3 wwmrR
Y, A" T @ e q1q
25% # 9 17 5
»=25 61 13 12

qzmm-aﬁﬁwﬁafﬁ:rﬁﬁmmmzu.mmgamm
wwm%ﬁachi-aﬁmmﬁmqﬁa=.o1q1$ﬁ-q~arﬂag.u
%lwﬁﬁﬁwmqﬁmu-ﬂswmmﬁ%?

(1) g&m%mﬁmﬁﬁﬁm%mﬁéwmﬁ
Sl

(2) AT FHN & GHR F Tl wehw e 2
B) T # g Y F = g TE Ser &
() FHTT D 9 o oy B i 20.78% wEwEg sl B 2|

Ifl; = 6,93,435 and L,, = 6,90,673 then what is the probability that a
person of exact age 20 will die within one year ?

(1) 0.00762
(2) 0.00123
(3) 0.00398

[4) Thec probability cannot be obtained on the basis of this
information. '

22
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49,
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g% 1, = 6,93,435 3% 1, = 6,90,673 & ot 3T T R WA TG
Bl 6 20 af & o AR o o ¥ g Y urm & W 7
(1} 0.00762

(2) 0.00123
(3) 0.00398
(4) FH @I & AR 9T Wipar O G @ o Tt o

Increasing the number of periods in a moving average will accomplish
greater smoothing, but at the expense of :

{1] Manager understanding (2) Accuracy
{3) Stability (4) Responsiveness to changes

uF T SN & - B W B 9T @ SureT ggern ur
&t oy s g/ @

(1) 9§9F H =i (2) uaredar
(3) R (4) aftadsr & afafe
Given the data
Commoditics
A B
po 1 1
q0 10 5
pl 2 X
gl 5 2

where p and q respectively stand for price and quantity and subscripts
stand for time periods. Find x if the relation between Laspeyre's (L)
and Paasche's (P) index numberis L : P:: 28 : 27,

(1) 4 (2) 12 3y 7 4 6

23 P.T.O.
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50.

Ted Ifiwe o
as
A B
po 1 1
q0 10 5
pl 2 X
ql > 2

W8l p 3T q BT Ud 9= & R ug 9y Rt avy =% 9@y
B 1 x ot afe d|feT (L) o (P} ToHis HEmaTt

% & §9=FY L: P 28 27 BT

(1) 4 2) 12 (3) 7 4 6

The Central Limit Theorem states that

(1} if n is large then the distribution of the sample can be
approximated closely by a normal curve.

{2} ifnislarge, and if the population is normal, then the vaniance of
- the sample mean must be small.

(3) if n is large, the sampling distribution of the sample mean can
be approximated closely by a normal curve.

[4) if nis large, then the variance of the sample must be small.

HRrg ST OHY e $ear Do

() 3 o0 921 @ & Ry &1 de7 @ gamFy T 3 Tl
TN B e B
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53,

If F=m".1[

1T y=wn"[

(1)

L
2

COSs X dy _
Hsinx],thcn —1i9:

dx

The value of !BSiﬂ}ﬂ 49 g .
1

jasin‘e d9 1 gy 3 -

{1)

L.
3

COs X d};
1 +sin x]’fﬂ- dx
2 3

2n

B -3
4n
(3) 3

The whole length of the curve y? = x2 (a?-2x7) is :

gy = x? (a2-2x%) A Qof s ®

(1}

na

(2)

xa

2

@ 5

if y = sin (a sin! x), then (1 - x?)y; is equal to :

gfE y = sin {a sin! x), ar (1-xy; &L g

(1)
(3)

(1-¥%
a? (1-x%)

25

(2) a*(L-y)
(4) a?(1+y?)

14U/ 94/ 4(i)

(4)

| —

(4) 4na

PT.0,
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i iy
58. The radius of curvature of the curve 5 + Jy =1at 23l is:

11

w&+@=:ﬁmﬁwﬁ§[-—)w%:

4’4
i . 5 3
1 5 @ - @ 3 @ 3
%6. The eccentricity of the circle x2 + y'=alis:
I x*+y? = 2% F Ihaar ¢ -
{1) © {2} <=1 3) =1 (4) 1

87. A bullet hits and gets embedded in a solid block resting on g
frictionless surface. In this process :

(1) Momentum is conserved
(2) Kinetic energy is conserved
(3} Both momentum and Kinetic Energy are conserved

(4) Neither momentum nor Kinetic energy is conserved.

Hﬂ"rﬁ?rﬁﬁq?ﬁrﬂﬁﬂwa’!ﬂgz%ﬂqaﬁ*hﬁﬁwmﬂ
AT 0t B 1 a9 gfear & -

(1} ST Wi &

(2) i St d@eferg @

{3) ﬁﬁaﬂéﬂqﬁﬂﬁwwﬁﬁm%

(4) Heﬁanawﬁ?ﬁaﬁsﬂtﬁﬁrnﬁammﬁ%,

26
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58. If the particle at O is in equilibrium then the magnitude of E, is :

59,

qﬁohﬁwaﬁémﬁwmﬂ%mamqﬁm%:

L
o}

60°
O

-

Q

(1) J7P 2) sp (3] f3p (4} 22p

A body is projected horizontally with a velocity of 4m. /sec. The velocity
of the body after 0.7 second is {take g = 10m./sec.?)

F Aoe 4 Mo 9y Avs 3 37 A &R R F B w1 ) fms
H I 0.7 §HUS 99T B (g= 10m. /sec.? HRTT)

(1) J37 m./sec. (2) 61 m./sec.
(3} o3 m./sec. (4) Jg5m./sec.

The value of the determinant :

265 240 21
240 225 198
219 198 181

qrforEs & O 2

(1) 20 2) 25 (3) © 4 1

a7 P.T.0.
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61. The set of non-singular matrices :
(1) forms a group under addition
(2) forms a group under multiplication
{3) forms abelian group under multiplication
(4) does not form a group under multiplication

sHfafers oneget = wg=y

(1) A F awia o wye = B

(2) IO F orid usk e FawET R

3) T & = RREa T awET 2
(4) T & Sl u A TE aeer B

62. The rank of the matrix js

02 3
¢ 4
0 6 9
0.2 13
aﬂ?‘gggz W e B
(1) 0 2) 1 (3) 2 {4y 3

63. if a, b are elements of a group G, then (ab)! =

WX a, b Bl W G, & smma & & (ab)t =
(1} a'b (2) bra? (3) ab (4) ba

28
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1 2 3 4
64. The order of the permutation [ ] is :

65.

13 4 2
. {123 4
mau[]342]aﬁa§\ﬁ%:
(1 1 (2) 2 (3) 3 4 4

Every subgroup of a cyclic group is :

{l1) normal

(2) not normal

(3) normal only when the order of the subgroup is prime

{4) normal when group is of prime order

s I TS H AGE IR 8 ¢

(1) SEmE

(2) wEHT S

(3) TEH FaW FE ITYE W A o B
{4) TEMTE S @4E Sic @i @ 3

. The number of generators in infinite cyclic group is :

(1) 1 (@) 2

(3) infinite (4) not definite
st s GgE ¥ o @ e ¥

(1} @& 2 R

(3] o (4) W 6

29 P.T.O.
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67. Let multiplication in G={[

68.

69.

X

x}:xe IR, x=» ﬂ} be multiplication of 2 «
X x

2 matrices. The identity element of G is :

T ferar G'—'{E I]:xe[ﬂ.,x:ﬁﬂ} T A 2 %2 HE @ qom & oy

X

1]
3 B i § [0 0 0

(M) 11 2 1 (3) [ﬂ 1] 4) L] 1]
2 32

The surface represented by the equation YZ+r X +xy =0 iy -

{I) Cone (2) cylinder
(3) sphere (4) ellipsoid
FHETT yz + zx + 2y = 0 @R mfifa g B .
(1) sig (2) T+

(3) (4) ddgas

The condition for the Plane & + my + nz = P to touch the conicoid
ax? + by? + oz? = | ig -

HHART & + my + nz =P % R AT axt + by s g2 g & Tyl e
i g1t %:

3 2
['Ij aﬂj’?.‘_ b2m2 + cﬂnz = pﬂ [2] -{_ +E__+_n_1_ = p}'
B b c
2 z 2
) el i,
al b (4) Im+m1+n1=p’

30
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70. The shortest distance between the lines :

71.

T2.

(1} O 2) 1 (3) 3 4 5
The length of the perpendicular from the point (4, -5, 3) to the line

x-5_y+2_2z-6, .
3 a1 5 I’

frg (4,-5,3) & =0

x-5_y+2 _z-6
3 -4 5

W @Y T T & e §

The angle between the planes :

3x-4y+5z=0,2x-y-2z=51is:
HAael 3x-4y +5z=0, 2x-y-2z=5 % &1 T Hor B :

.
4

£ | A

2) % (3)

| A

(1)

3 1 PtTlDo
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73. The distance between the parallel planes 2x - 2y + z + 3 = ¢ and
4x -4y +2z+5=0is:
& FHRR WA 2x -2y +2+3 =030 ax-4y+2z+5=0 & A7
g 2 |
g . 5 1 o L
(1) 3 @ (3) 7 {4) 3
74. The image of the point P (1, 3, 4) in the plane 2% -y +z+3=0is:
g P(1,3,4) @ offes Gaae 2x-y+z+3=0 ¥ 3 -
(1 (1,52 2 (-3,5,2)
8 (L47 (4) (2,5, 8)

‘5. The equation of the plane through the point (1, 1, 1) and
perpendicular to the line
X-2y+2=2 4x+3y—-z+1=0is:
RFZ (L 1L, 1) & Bt I @ ol @1 -2y +2=2, 4x+ By -2 +
1=0 & FHay T H d@sfiepor ¥

(1) x-5y-1lz+15=0 (2) 2x-3y+72+8a0
(3] 2x-8y+9z=18 4) 2x-Sy+T7z+7=0
: 'zn}—l
76. For the series =
k|
o D—— @ Rl
im0 =

(1} © @ -1 (3) 1 (4)

32
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78.
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1 5 92 13
: —+ T+ "+ . 1%
The series 5 6 10 14 b

(1} convergent
(2] divergent
(3] oscillatory

(4] neither convergent nor divergent

1
The series ZE is convergent if :

o Lo sfwrd ¥ o

(I} p>1 (2) p21 (3) p=l 4) pst

if u_-——i,’[n’ +l)-n and V.=$ , then ,’ﬂ=':—' is :

ot u, =3[ 1) -0 T v mle R

m 1 @ 3 @ 3 @ 7

33 P.T.0.
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; 22x % 4%
B0O. For the series x + 5 + +

3! 41
zlxi 3]33 4Ix.l
a"ﬁx+2!+3!+4!+ ,,,,,,,,, $ R
lim —2— =
u, +1
1 A 2 & 3 _]_ 4
: . . o dy 1+
81. The solution of differential equation is & T
dy 1+y* :
HTHTT WS =175 W &@ B B Rl
UL jwem=eit o) (@) y-x=cil-xy)
B y-x=cll +x) (4) y+x=c(l-xy

a
82, The singular solution of the equation ¥ =px "'E is

Hﬁmr=px+§-wﬁﬁﬂﬁ§;

a
(1) F:¢x+z 2) }'=K+§
(3] y*=x?+¢ (4) y2= 4ax

34
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The orthogonal trajectory of r = a (1 - Cosf) is ;
r=a(l-cosg) &I itgs AT ¢ -
(1) r=c(l+cos®) {2) r=c(l-cos8)

(3} r=(1+ccos’) (4) r =csin’g

di ¥
- The order and degree of the differential equation d_xii+ ,'x +[:—i) =0

is

dx? dx
%l Fife AT g B
1 {2,2) 2) (3,2) 3] (2,3 4y (1, 3)

d
The integrating factor of the different equation (1+ xz]EF +y =tan'x i3 -

AR FHIHTOT (I+ x’}%w =1an"'X FH GHIHA O §

{1) g==x (2) ="' x (3) e-ansx {4) tanx

35 P.T.0.
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86. Differential equation of the orthogonal trajectory of the family of curves

dyJ
flxy,—=—[=0:c.
('de is :

(1) f(x,.v, %J=ﬂ (2) f(w.-%}ﬂ
dx d?
(3) f‘[x y-d?] =0 (4) f(x.y,ﬁx—{] =0

87. E.(EKE] 1s equal to :

(1) &(axb) (2) -(axb)z (3 (exb)a (4) &x(ab)
88.Let = xi+yj+2k. Then div 5=

T R F=xi+yiizk 99 div -

(1) 1 (2) 2 (3) 3 4 4
89. Curl 4 is equal to

Curl ixd ST9C 2 -
{1) 22 (2) 24 (3) 33 (4) _;3

36
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90. Directional derivative of ¢~ xyz? in the direction of vector 2i+j-Lat
the point (2, 3, 1) is :

| 2f+j.k B R F 2,3, 1) w ¢=xyz" I RFp-aTaqawmor ¢ -

! 4 2
m 7 2 -7z e “)

&l

91. The vectors 2i-j+k, i+2j-3k and 3 + g + sk are coplanar if & =
W 2 jok, {+2-3k M 3i+g+5i gvaha X X o -
(1} 1 (2} 3 (3) -4 (4} S

92. The volume of the parallelopiped whose edges are represented by
ﬁ=2§-3}+4ﬁ,5=f+2]-ﬁ, E=3§-]+2E s ;

Ty R faam §=2i-3j+4k,b=i+2j-k &=3i-]+2k B HERE
2, @ o ¥

(1} 5 2y 7 (3) 9 4} 11
93. The minimum value of |Z-1] + |z| for complex values of z is ;
it demr 2 & R |z-1] + 2| w1 =gaw A &

(1) 2 (2) (3) O (4) 1

2

T P.T.O.
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94, u‘u=f[f], then
IEH—+J.PE=
& "oy
qfe u=f[-§) Sl x%+y—gy£=
(1) © (2 2

95, If x=rcos®,y=rsin®, then

a(x,y) _
a(r.o

4fg X=rcos®,y=rsin@, i

&x, ) _
d{r,8)

() r 2 -
96. If x=rcos8, y=rsind, the :
ar Y ar Y
e + | —_— =
dx dy
¥ x=rcos, y=rsin®, ©r :

(5] ()

(1) ¢ 2 1

38

(3)

(3

(3)

(4) fix)

@) r

4) 2
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Number of constants in singular solution of an differential equeation
of degree n is :

naﬁ%mﬁwwﬁaﬂw%ﬁﬁaﬁﬂﬁaﬁaﬁﬂﬁﬁw@?ﬁﬁ:
{11 0 (2) 1 (3) 2 4] n

The function f (x) = }x|,atx=01is:

(1) continuous and differentiable

(2) continuous but not differentiable

(3) neither continuous nor differentiable
(4} only differentiable

W f(x) = {x]|, x=09T B :
(1) |9 o7 Aadheag

(2) WY UV STGEHTIY Tqé
(3} T & FIT T A Fawag
(4) Fa9 FFHATY

The time period of an SHM of intensity u and amplitude a is equal
o

pfﬁwqﬁaaﬁlﬂtﬁqﬁwmﬁﬁnﬁrmﬁawmwtz

22 2x a*? 2na 2n

(1) Ji (2) ——‘J;; (3) o (4) i

k] [
100. | f (ydx=2[f () dx if
] 0 ;

f [2a-x) is equal to :

Tf(x}dx= Eif (x)dx 1f Ffx
L Q

f(2a-x) FOST & :
(1) f(2a} (2) fx) (3) ~fx} (4) -1(2a)

a9 2000



10,

i2.
13.
14.

FvaiaEt & foro fadw
(¥R JEA%T & wom Fravor g o7 7o 590-95 & N o av
Haer e w1t arr-wnye 67 @ 51 e
¥ qfel frem & 10 fie & o g 3 o s vEw § weit g i § i 9
T 21 7 B e Qegeh O 9 R S g A - P &) e e
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§ 7 7|
FT-% v @ o v 41 et 7 @ 2y AN T 0 A &2 gqE Ao 997 ey ovdn
AW JT-0F &7 ¥ JewwT e A
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IT-TX & wwy 79 97 97 § S FIwAs (alir eny ov frd gwr A9 62 g9
g w1 &1 orgl- oyl Frawen gt apl weI- e w1 wmEiw mar @ @7 T I w
o7 e
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RETEET 4T SpEE S sto e Ao wx wewy ¥t wukwi ¥ sufictery & squlr
i
JuYm AEET F B W Afiads wg PO g s gt i S a o A
wGT & NQhT FET A
m-gﬁm#'mdﬁm#mhﬁmmﬁﬂn#ﬁmm%mm%m
FTIE! ST UH B gADT UF & @ 77 1R 99 B IA0-9% & vew g @ 0 R
A & s dr R mor s
Yol WA & I AU Fae 0 @ 99 A M N TF ¥ 9 g9 =
R R U g4 F I W W ag I T WA A=
@ & (% TF a7 @ Qe S I6T awen T w0 www 4 ol A fEe 9vT a6
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